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PART A [32 marks]
3 hmz_ﬂ 2:1:2_-1;—i3;z:_—7 is

Ao B.0 C.2 D. 15 E. 8

. If function f(z) = 2% 4+ az + 1 is monotonic increasing in the interval [1,2] then the
minimum value of a is
A2 B.-1 C.-2 D.1 EO

. Consider a function f(z) where f(z) = =542 if z # 0 and f(z) = p if z = 0. If f(z)

8x2
is continuous function at z = 0 then the value of p will be

A.0 B.1 C. -1 D. % E. None of these

CIf
z—5 for z<1
fl)=<422 -9 for 1<z <2
3x+4 for z>2
then f/(2+) =
A9 B.2 C.3 D.4 E 7

CIfy =S+ then ¥ is equal to

ez_e—z )

A. sech’z B. csch®(z) C. —sech’z D. —csch?(z) E. coth’z

. Derivative of 2% + 6° with respect to z is
A 12z B.z+4 C.625-6%" D.625+26°! E. 6z°+6%log6

. If y = e®log z, then % is
A. £ B e”‘(§+xlogm) C. ez(iJrlOg-’E) D. & E ex(%‘k’g"")

logx

. If In(z + y) = 2zy, then y/(0) = is
Al B.-1 C.2 D -2 E.O0

(3)

(3)

(3)
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9. If ze™ = y + sin’z, then at z = 0, & is equal to
A.-1 B.-2 C.2 D.1 E.O

10. The radius of a cylinder is increasing at the rate of 3m/sec and its altitude is decreasing

at the rate of 4m/sec. The rate of change of volume when radius is 4 meters and altitude
is 6 meters is
A. 80mm3/sec B. 144mm3/sec C. 80m3/sec D. 64mm3/sec E. 64m®/sec

PART B [46 marks]|

1. (a) Determine %g in terms of z if y = arcsin 3z

(b) Determine, using logarithm differentiation % ifyg= “‘31;+2"”

. The parametric equations of a cycloid are z(f) = 4(f — sinf), y(0) = 4(1 — cos¥).

i 2
Determine (a) % (b) %

. Determine the first derivative (i.e %) if f(z) =sin(logz), and y= f(gi_'%%)

. In the Mean-Value theorem

o - 10=16)
if I
a=D, b=§, and f(z) =z(z — 1)(z — 2),

find the value of ¢ that lies between a and b.

. The length z of a rectangle is decreasing at the rate of 2cm/sec and the width y is
increasing at the rate of 3cm/sec. When z = 12¢cm and y = 5cm. Find the rate of
change of:

(a) the perimeter

(b) the area of rectangle

End of Exam!

(3)



